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Mkk[kt ¾kuxkt rðÄkLkku : Mk{ík÷ (2 3 ) 1 ( ) 4r i j k r i j× - + = × - =yLku  ðå[uLkku AuËfkuý
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Mkk[kt ¾kuxkt rðÄkLkku : hu¾k 2 3 ( 2 )r i j k i j k= - - + l - + Mk{ík÷ ( ) 2 0r i j k× + - + = {kt ykðu÷ Au.
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x y z- + -= = Lkwt MkrËþ Mk{efhý (5 4 6 ) (3 7 2 )r i j k i j k= - + + l + +  Au.

Mkk[kt ¾kuxkt rðÄkLkku : (5, –2, 4) {ktÚke ÃkMkkh Úkíke yLku 2 3i j k+ + Lku Mk{ktíkh  hu¾k
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Mkk[kt ¾kuxk t rðÄkLkk u : Wøk{®çkËw{ktÚke fkuE Mk{ík÷ ÃkhLkku ÷tçkÃkkË (5, –3, –2) Au. íkk u Mk{ík÷Lkw t Mk{efhý

(5 3 2 ) 38r i j k× - - =  ÚkkÞ.
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